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QUESTION 1

You want to update your storage system and are concerned about the compatibility of the SAN components and the
host environment. 

In this scenario, which two actions should you take to verify compatibility? (Choose two.) 

A. Use the Interoperability Matrix Tool. 

B. Use Active IQ Interop Advisor. 

C. Upload AutoSupports to Active IQ. 

D. Use the Active IQ Config Advisor. 

Correct Answer: AD Section: (none)

 

QUESTION 2

When using NetApp Volume Encryption (NVE) which type of server is needed to keep encryption keys separate from
encrypted data? 

A. KMIP 

B. RADIUS 

C. TLS 

D. TKIP 

Correct Answer: A Section: (none) 

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-
nve%2FGUIDEAD13D8E-0219-45B6-A2C6-B25B76C9CA1A.html 

 

QUESTION 3

While troubleshooting client access issues to a CIFS share, you notice that the issue only occurs when the data LIF that
the clients are accessing is on a specific node in the cluster. 

In this scenario, which configuration should you review to determine why this issue is happening? 

A. cluster health 

B. Kerberos 

C. share path 

D. export policies 

Correct Answer: B Section: (none) 
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Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2426787 

 

QUESTION 4

You perform a security trace when troubleshooting a data access problem for a user. The results are shown in the
exhibit. 

What should you do to solve this issue? 

A. Grant the user Read Attributes access to the path. 

B. Add the user to the BUILTIN\power Users group. 

C. Add the user to the BUILTIN\Users group. 

D. Grant the user Execute access to the path. 

Correct Answer: A Section: (none) 

Reference: https://www.reddit.com/r/netapp/comments/dm90iv/change_ownership_failing/ 

 

QUESTION 5

A customer is showing disk utilization is at 100% in Active IQ even though there are low protocol operations on the
controller. You review the data shown in the exhibit. 
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In this situation, what should you do? 

A. Replace disks 6b.34 and 6a.19. 

B. Add disks to the aggregate to bring down the average utilization. 

C. Replace disk 6b.39. 

D. Reseat shelf module B. 

Correct Answer: C Section: (none)
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